HERBREREARKR (FH2FE~FMIFRE)

SATARAE

S B X 4 £ & BEANE| HEEH | BF | XBREH | aBEHR | AFER
A B B/A C D E
r SHAEE 8 10 ( 0) — 10 ( 0) 4(0) 4(0)
i# | EBAFER | sMFE 8 14 (0) — 14 (0) 6 (0) 6 (0)
Ej{ SH2EE 8 5( 1) — 5( 1) 2.(0) 2.(0)
a4 DN R 55 (4)] 20 | ssc4a)| 34| 384
B | #HEBAFHR | sm3EE 21 57 ( 2) 2.1 57 ( 2) B (1) 37 (1)
SHEE 22 217 (1) 1.2 27 C1 )| 28 C1)l 23(C1)
SHMERE 35 65 ( 4 ) 1.9 65 ( 4 )| 42 (4] 42C4)
=) g SFSEE 35 (2 2.0 (2 44 (1) 43 (1)
SHERE 30 2 (2) 1.1 2 C2) 25C1)l 25(1)
ABRBHRERASRKE (FH2EE~FHIEE)
S OB R 4 £ & BEANE| HEEHR | BF | XBREH | aBEHR | AFEHR
A B B/ A C D E
SHMERE 55 189 (21)| 3.4 186 (19)| 141 (13)] 59 (10)
- 8 A B | sEE 55 227 (20)] 4.1 220 (20)] 139 (10)] 65 ( 6 )
SH2EE 60 274 (35)| 4.6 265 (32)| 153 (20)] 72 (15)
%*EI‘IEE 7 69 ( 9)| 9.9 69 (9)| 24| 3C0)
it “é('g;‘fjx 3 8§ (0)| 27 6 (o) s5co)] sCo0)
% St E A “*EEE]E 7 19 (12)| 170 |16 12y 26 C2)| 2(1)
" “i;‘f]x 3 14 (3) 47 12 (3) 8 (3) 6 (2)
=t TREE 135 (14) 193 130 C12)| 191 o(o0)
“%g‘f]x 3 12 (0)| 40 100Cco)] 1w0co)] 6C0)
SHMERE 65 266 (30)]| 4.1 261 (28)| 189 (17)] 65 ( 10)
a &t SHIBERE 70 360 (35)| 5.1 348 (35)| 173 (15)] 718 9)
SHERE 70 421 (49)| 6.0 405 (44 )| 182 (21)| 78 (15)
X BB, BR - EMARBELEET.
AZRBARR (SFI24EE ~ S T4 )
5B X 4 = g BEANE| HEEHR | BF | ZBREH | AREHR | AZEXK
A B B/ A C D E
SHAEE 100 331 ( 34) 3.3 326 ( 32 ) 231 ( 21) 107 ( 14)
w & SHEE 100 431 ( 37) 4.3 419 (37) 217 16 )] 116 ( 10)
SH2EE 100 453 ( 51 ) 4.5 437 ( 46 ) 207 ( 22 ) 103 ( 16 )




